CBSE Class 12 Economics Compartment Question Paper 2020 (September 22, Set 2- 58/C/2)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises two sections —A and B. All questions are
compulsory.

(11)  Question numbers 1 — 10 and 18 — 27 are very short-answer questions
carrying 1 mark each. They are required to be answered in one word or
one sentence each.

(111) Question numbers 11 — 12 and 28 — 29 are short-answer questions
carrying 3 marks each. Answers to them should not normally exceed

60 — 80 words each.

(iv) Question numbers 13 — 15 and 30 — 32 are also short-answer questions
carrying 4 marks each. Answers to them should not normally exceed

80 — 100 words each.

(V) Question numbers 16 — 17 and 33 — 34 are long answer questions carrying
6 marks. each. Answers to them should not normally exceed

100 - 150 words each.

(vi) Answers should be brief and to the point. Also the above word limit be
adhered to as far as possible.

(vit) There ts'no overall choice. However, an internal choice has been provided
in 2 questions of one mark, 2 questions of three marks, 2 questions of four
marks and 2 questions of six marks. Only one of the choices in such
questions have to be attempted.

(viit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(MACRO ECONOMICS)

Define Current Account Surplus. 1

OR

Equilibrium 1in Balance of Payments 1s achieved when the net value of all

the receipts and payments is (zero/positive).
(F1ll 1in the blank with the correct alternative) 1
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2, (e HIT/HA Gid) T dTcdd Teh AWT I8 b GHH Teh AATIEAT H
$ TR I E 8 | (T&t foshed grr ok T bt gfd hifsm) 7
3. i HiHTd §=id Y (MPS) I & S §l, dl 0Teh hl Hod BT |

(Tt 3T g T ¥ <l gid i) 1

4. 3IZW HIWT Toh FHATARGT I T 8 AT T

“Tleat § yarfga foram T sT=nies e YehRIcHeh STeldl bl 3CT8l & | 1
5. g T 399N (C) I | AlYF 7, O Ig qAT § Tob Afeqawdqr 6l T
3 gt | (@&t faehen g fr Tom i gfd ifsw) 7
(A)  wedl g
(B) T g8
(C) / I
(D) &=
6. Yol Al = gl Tl 1 3@ hilIT | 1

7. TRl TP o shegld soh g Ifaqfal o s qom fasha i gfshan =l
gl STl 8 | (TET Tarehed gRI Tk € bl fd shifole) 7

(A) | TTIIhdIT
(B) Ed IHR H Y=

(C) Hohg A& AU

(D) d4THeh TSI 3TATd

8.  ‘ITUTL HU hl YRHTNG hIfSTU | 1
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2. (Aggregate Demand/Aggregate Supply) refers to total ex-ante

expenditure in an economy during an accounting year.
(F1ll 1in the blank with the correct alternative) 1

3. If Marginal Propensity to Save (MPS) 1s equal to zero, the value of

multiplier will be

(Fill 1n the blank with the correct answer) 1

4, State whether the following statement 1is ¢rue or false :

“Industrial waste driven into rivers 1s an example of positive externality.” 1

o. If Autonomous Consumption (C) is greater than zero, it indicates that

the National Income of the economy will be
(F1ll 1in the blank with the correct alternative) 1

(A) rising
(B) . falling
(C) =~ zero

(D) constant
6. State two components of Money Supply. 1

7. The process of buying and selling of securities by the Central Bank of a

country i1s known as

(F1ll in the blank with the correct alternative) 1
(A) Margin Requirement
(B) Open Market Operations
(C) Cash Reserve Ratio

(D)  Statutory Liquidity Ratio

8. Define ‘indirect tax’. 1
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9, -t T I T Ueh 3ST&L0T ¢ |
(Tat I g T w9 bl gfd ko)
10. 3gQ shitau fob FHATARgd oA e 8 I 39T
“Teor fafma gt JurTedt 6 dgd e fafama ot 9 gig hl St 8, df 36 Hgl <l

YT gl Il & | 1
11. “gohdl a3 G¢d Haa a1 & Afeh gl g |7 U 7T oM @1 3fd d gt
AU YT WS hiTT | 3
SOC|
“Taceti @ U9 Ig 9194 3 Sl FROMcHe &l & Gohdl g | QU T HyH hi
3fd dob geht THYH YA Ge hifay | 3
12. Tk JYSFIEAT o HHIRGd ARl G (a) ITHN 35T qAT (b) MY =7 i
TUET hITIT 3
.4, | Teeo (fﬁ)
@) 3T <hT TR & 5,000
1) | T 39E 500
(iii) | | S=d Y9 0-4
13. ThAI S9i¢ H TSThIE |e YT TerEd 91¢ T Ta¥g shifwiT | 4

14. “Tes TP yatUq fatdt Jumell (managed floating system) o 3Idid 3791 gl
el whl S-SR A @l 3 | Gierd Tae=mT i foh I8 fohE YR 38 Y

o Tfar s guTfaa s | 4
GG
‘YRd § fogsfl fHasr sl Yae 39 o fohd 9&r qom fohe 39-@rd 4 & Tk
ST ? 3794 3L o 9 H IR deh J&d hilNIT | 4
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9. 1s an example of a non-tax revenue receipt.

(Fill in the blank with the correct answer) 1

10. State whether the following statement 1s true or false :

“Devaluation of currency 1s said to occur when the exchange rate 1s

increased under the fixed exchange rate system.” 1
11. “Gross investment 1s always greater than net investment.” Defend or
refute the given statement with valid argument. 3
OR

“Net factor income from abroad can never be negative.” Detend or refute

the given statement with valid argument. 3

12. From the following data, calculate the (a) Consumption Expenditure and

(b) Investment Expenditure for the economy. 3
S. No. | Particulars Amount
(in )
(1) Equilibrium level of income 5,000
(11) Autonomous consumption 500
(111) Marginal Propensity to Save 0-4

13. Distinguish between fiscal deficit and revenue deficit in a Government
Budget. 4

14. “A country deliberately keeps the value of its currency low under the
managed floating system.” Discuss briefly how it will affect the exports of
the country. 4

OR

On which side and in which sub-account of Balance of Payments, will
‘foreign investment in India’ be recorded ? State valid reason for your
answer. 4
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15. heold Soh oh hiHl STRIshdl seh h okl UM shifold | 4
16. (a) HY H ==l Shifo€ foh GUT R 1 forshl & 9T A o1 TTT T hl
AT § fohd JehR HEqui/gidured feham Smaem 2 2
(b) ‘QrEdfaeh Hehal =Re] 341 AT Hifgeh Hehel =] 3cdlg H A TUT
hiToTg | 4

17. (a) “HAIsgger H Rl g3 | I dGMET & & U, g & ° WA T
Seh 4 W1 T 9T Na® W1 @ H FH bl 8 |7 hald b g1 33T T 3

el o 118 o 3T &l =Are it | 4
(b) ‘=D USRI ohl TRHTNA hifaT | 9
JTera
JaChlfder AU 1 T 7Y 8 ? TaChITdeh TaU bl 39 TRfeAld & qHIEH
o 1T febeal @1 Hifgsh USRI <l 3gE HifVT | 6
CLERE |
(MR reieTaeet s fahtd)
18. TUSHTREH Hdfg ohl THHTYA HIfT | 1
19. <H T, FRH AaEdT &7 U HafYd 8 |
(w5t foehed g fh T &1 fd shifeiw) 7
(A) Y
(B) 3EmM
(C)  ®a
(D)  FHIY=ER
581812 8
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15. Describe the ‘Bank of currency i1ssue’ function of the Central Bank. 4

16. (a) Discuss briefly how the money received from the sale of a
second-hand car will be undertaken in estimation of National

Income. 2

(b)  Distinguish between ‘Real Gross Domestic Product’ and ‘Nominal

Gross Domestic Product’. 4

17. (a) “To boost the falling demand in the economy, Reserve Bank of
India recently reduced Repo Rate and Reverse Repo Rate.”
Elaborate the rationale behind the steps taken by the Central
Bank. 4

(b)  Define involuntary unemployment. 2

OR

What 1s meant by detflationary gap ? State any two monetary measures to

correct the situation of deflationary gap. 6

SECTION B
(INDIAN ECONOMIC DEVELOPMENT)

18. Define ‘Jobless Growth’. 1

19. In China, commune system is related to sector.

(Fill 1n the blank with the correct alternative) Vi

(A) agriculture
(B) 1industry
(C)  service

(D) informal
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20. YRd § JSHI 1 &I A&, (THEEA/IEEEAT) & 91y AT
farehrd o | (wat Torehed gRT ik €= <l qfd <hifeie) 1
21. T3 4 U U Bigs (GLF) A= i 3EaTd gy o i off |
(&t Tdehey ol T3 hitwiT) 1
(A) 1952
(B) 1958
(C) 1960
(D) 1968

22. 3@ iV fob HHIAREd w7 8 31a1 797

“arfren e o wrafirep e wreathes Al &R ohi e e ' @ 17 1
23. 1956 < SAIAh ild I=dd o Aqd IAN bl (Qi/dH) ot #|

Jifiehd TeRdT TTI1-2T| (T8l Taehey g Tk €219 <hl gfd i)
24, Bl G I ", Tod a1 9Rd @ T I3l o qiagd ohl

ATTd | ShHT 37 o | (Th ¥ <1 gfd shifsw) I

25. 3IZW HINU foh ARG HI TeF 7 AU 7T

“FARTFARISHT o TINT = ST 1 h1h BTH AT & | 1
26.  ‘Toraford eIy’ <l ity i | 1
YT
Y IcUTGRdT § AT IR 3 ? I
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20. KEconomic growth combined with (equity/disparity) was the

principal goal of planning in India.
(Fill 1n the blank with the correct alternative) 1

21. Great Leap Forward (GLF) was the campaign launched by Mao in the

year . (Choose the correct alternative) 1
(A) 1952
(B) 1958
(C) 1960
(D) 1968

22. State whether the following statement is true or false :

“Elementary education covers both primary and middle level education.” .

23. In the Industrial Policy Resolution of 1956, industries were classified in

(two/three) categories.
(Fill 1n the blanks with the correct alternative) 1

24. Opening of Canal significantly reduced the cost of
transportation of goods between Britain and India. (Fill in the blank) 1
25. State whether the following statement is true or false : 1

“Use of chlorofluorocarbons has led to ozone depletion.”

26. Define Marketed Surplus. 1
OR
What is meant by Agricultural Productivity ? 1
o &1
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27. THHiciRad | | fohd Yehr shl SUSHTRI | #3igl hl HHTd IcaTeehdl [ Bl & 2
(wat Taeheq &1 =¥ hileie) 1

(A) EEATHS SUSTTH
(B) 3Aif=se U

(C) e STy
(D) Y=ad S
28. UGN &UT o Tohrgl G T&T hIUN o1 3g@ qUT Fdl hitiT | 3
Tt
WA H Sfoieh Y o Teheal Gl TTHI sl 3@ hIWT | 3

29. “Ora dSit fSmiv ey, TfashR q9T Tehiehl GURT S 7 a1 2 |7
7 AT 39 U T o 9 TeHd & ? 94 3O ol 3fad dehl died THA

él[éQl 3
30. “YNd I T=: [Iva HT TRV Tded’ el AT & || WA ol eU U 39 11
o HE&J HRUTl hl 3g@ qYT Il hifaT | 4
AT
TRATT TASITEAT <hl ST UShAT o 32T o &9 H IJTH-FYEr & T4 &
3= <hl &9 H == iy | 4
31. SHAMEIh o AU T YA d UTiehed™ hl ol shifaiT | 4

32. IR h HAifd 7 YR fFd 9 (RBI) &l fa<iT &9 & T Hames <l
Yfiehl € 9g L Teh Gkl § §¢ T¢I 8 |

feU T Y9 T AT dehl ¢RI GHIA U] G T | 4
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27. In which of the following type of unemployment, i1s the marginal
productivity of the worker zero ? (Choose the correct alternative) i

(A)  Structural unemployment
(B) Involuntary unemployment
(C)  Seasonal unemployment

(D)  Disguised unemployment

28. State and discuss any two principal causes of environmental degradation. J
OR
Mention any two advantages of organic farming in India. 3
29. “Human.capital formation gives birth to i1nnovation, invention and

technological improvements.”

Do you agree with the given statement ? Support your answer with valid

arguments. 3
30. “India 1s often called as ‘outsourcing hub’ of the world.” State and discuss
the prime reasons for this name given to India. 4
OR
Discuss briefly the rationale behind choosing ‘self-reliance’ as an objective
for the planning process of the Indian economy. 4
31. Compare India and Pakistan on the basis of their demography. 4

32. The policy of liberalisation changed the role of Reserve Bank of India

(RBI) from ‘a regulator’ to ‘a facilitator’ in the financial sector.

Defend or refute the given statement with valid arguments. 4
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33. (a) HHS-SHEEIT AU sl TRYTNT HIT | Ig T 00T 8 ? 4

(b) WA § a1 Hehe & Fued & forw, gt & § fopr U fohdil @ gami W
I I | 9
E PG
“ORd B TS 3T HRIshH, g BRI H JHANSH & & || WH Tohegl o
ST g fewuf Fi | 6

34. (a) QAN FAUW JYTGEAT o qdi¥eh &9 H IcqTgehdl derdl a | 3fed
deh GIRIT ShYH 1 FHIAA AT @eA ItV | 4

(b)  SHEA o IR § &7 dIcqd 8 2 9
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33. (a) Define worker-population ratio. What does it signify ? 4
(b)  Discuss any two reforms which have been initiated recently to
meet the energy crisis 1in India. 2
OR

“In India, the Poverty Alleviation Programmes have been found
unsatisfactory due to many reasons.” Comment on any three such

reasons. 6

34. (a) “Infrastructure facilities raise productivity in tertiary sector of the

economy.” Defend or refute the statement with valid argument. 4
(b)  What is meant by informalisation of workforce ? 2
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